God as realized Least Friction

Ode to God’s Least Friction

The ball bearings God makes inside are ideal spheres

That can turn as fast & and as smooth as our worst fears.

They form the electrons that operate our mind;

To unify Bodies of an Emergent-Whole Kind.

So large & fast does Our Energy-Mass-Force-Whole move,

You must start at the top & look downward to prove.

We must call our top “God “with nothing left to say; 

Else we get stuck there and with mind-only we play.

Einstein knew in his guts that Top-Faith was our start;

To choose Cause & Effect so it satisfies Heart.

Kepler’s faith-based Universal Harmony (UH) as “ The Old One” 

In tediously recording and analyzing the motions of the planets with a presumption of an underlying universal harmony, Kepler came up with 3 laws that made all subsequent science real & practical, especially astronomy. Newton turned Kepler’s laws into an all-encompassing theory of gravity and gave it complete new math & simple word description that gave birth to classical physics. Maxwell gave math-only birth to Electromagnetism that worked in terms of fluid charge, which unknown to him, was actually a real time asymmetric overlay on Newton’s pre-existent universal gravity. Maxwell thus allowed math-prediction but not full understanding of the seemingly magically & powerful effects of electricity. The physics of electricity was left to fictional force-at-a-distance for “charge” & “magnetism” --making them un-huggable by human curiosity. 

Science as Einstein faced it head on from the top, was mechanically false & could not be visualized (fully pictured in the mind) at the “local event level”. Einstein beautifully combined the known laws of physics as defined by Kepler, Newton and Maxwell, into a one-continuous-field theory that evolved from Special to General relativity. GRT is now the centerpiece of out best sense of physics as science, but has a fix in the direction of small that he considered temporary, called quantum mechanics that defined a problematic (not deterministic) local event picture. One completes what Einstein started so the mysteries of electricity and quantum mechanics can now be removed. Kepler’s UH and Einstein’s Old One can then be combined to provide a proper Intelligent Designer God end at the top of mind, and emergently serve as the beginning and end of a proper sense of Heart.

Late in life Einstein looked for but did not find a simple algebraic form for his field equation.  He needed to explore his E = Mc2 to find it. Mass was never adequately explained. He did not see its two-way AC mode implications - that speed can go much higher than c inside atoms--and lower than c outside in a back and forth manner-- to bind & provide self-assembling identity to all visible matter.

The  real meaning of E ( Mc2 & the need for new theory

Einstein’s famous, least-disputed equation is an expression of Kepler’s Universal Harmony (UH) in open space away from atomic matter. Only what was vaguely called “light” was said to travel there at the constant speed of c.  But per GRT, E = Mc2 must apply to all electromagnetic and gravity energy-mass transfer in open space, and without using the mechanically false concepts of charge, magnetism or antimatter! This fact somehow escapes the larger majority, if not all of the presently well educated. Said again, it is not evident that anyone fully understands the GRT centerpiece of the standard model--that it totally denies the force-at-a-distance implications of charge, magnetism & antimatter! Quantum theory’s problematic definition of the “particle” and “wave” at the local event level, leads to many real world physics mysteries; including mutually annihilating anti-particles. These Physics mysteries must be eliminated before Einstein’s Real World can unfold.

Basic quantum theory in the direction of small is needed but not the problematic math. A speed-v-generalized Einstein energy matter relation, may be written E = Mv2, or v2 =  E/M where M = nh, and n is the number of electrons. This is all the field equation one needs for both prediction and visualized mechanical (deterministic) understanding of physical reality inside the atom as gravity field. At the outer spin boundary of the atom’s black hole, the orbiting electron as stored mass of h grams, has a speed of vmax = ([Emax /Mmax ] =  ( [(1/ 3)]/(h) = ((1/3h) ( 237c; outside the atom it goes below c. As gravity field, the atom’s energy-mass relation tells us that the electron has a variable 1-axis spin energy that goes to a maximum value of 1/3 of an erg.  The 3-axis spin energy is the sum of 3 electrons at right angles orbiting in the BH outer boundary shell to create the maximum energy value of one erg, or Emax = 1. This indelibly says that the measure of energy is referenced to a maximum density spherical surface at the BH of the atom! Why? Because the atom’s BH sphere is the obligatory central-causal-spinning, minimum-size math point for all visible matter!

All visible matter can be said to be geometrically made up of an evenly distributed array of atomic nulcear core black holes on the order of 10-13 centimeters. The quantum theory “fix” of Einstein’s theory was/is all about non-accommodation of fluid dark matter below the size of the atomic nucleus. The un-measurable quantum wave function can only be inferred as the necessary dark matter something that fills in the infinitesimal gap of nothingness between adjacent spin touching material points. The fix Einstein never realized before his death was that he needed to take the gap of nothingness from around his touching material points that he mistakenly put there-- so Higgs particles defining the touching spin surfaces of material points of whatever size could play the roll of mass. The math derivative and the math point must have the discrete depth of maximum-spin-stirring BH surface at the center of every gravity field comprised of a concentric array of rotating shells-- capable of hosting electrons that are “the ties that bind”.  Even the BH itself must be strong force bound by maximum spherical density of in-out oriented Z-electrons that lock all its shells together in continuous back and forth oscillation. 

The rotation of the electron hosting spherical shells of the atom goes from vmax at the BH to v = c  at that dark matter circulation boundary where the electron orbit speed is also equal to c. The -c-boundary of the atom is then where the most incoming measuring electrons as heavy photons of light are reflected back to show the light tangible outer surface. The atom we see under the microscope is not the entire atomic gravity field but that central portion where the speed of shell defining electrons must obit at the speed of c. No wonder the speed of c is so anthropic central to visible matter! Since all measuring electrons must have a speed less than c, they do not get absorbed but are reflected instead. Left undisturbed by probing electrons, the atom alternately absorbs and releases that number of electrons necessary to mark its ambient energy state. Thus the c- boundary is continually expanding and shrinking in an oscillatory manner consistent with the storage and re-release of energy state marking electrons, per Ees ( Mesv2 = nes hfes, where h is always in grams and not ergs! The frequency pulse is then always an electron size and not a quantum size and the difference is astronomical numerically speaking-- because one electron is equal to 1/h quantum masses of h2 ( 10-53 grams each. The quantum is clearly un-measurable by atomic matter. 

Visible matter can only exist & measure by continual back & forth molecular-size electron pulsing to and from atoms. What is moving back & forth as mass and energy is Higgs particles, and they are literally being extruded and sucked as maximum density string! E = Mv2 is always gross measure in terms of the number of electrons involved in the count of atom stored and alternately released electrons. We get by for math prediction by taking full advantage of the h-symmetry between mass and energy while dealing in truly astronomical numbers of individual quantum and electron pulse events for even the simplest of experiments involving a small number of molecules or atoms. 
Physics desperately needs a clear picture of the hidden-quantum and visible-electron frequency pulse energy-surface-event overlays on the pre-existent gravity field.

We are benevolently anthopic-forced to experience reality one electron pulse at a time and its impact as energy varies with speed squared. Einstein’s energy mass relation in the kinetic energy lab is E = Mv2.  No gaps of nothingness between molecules --only orbiting electrons pulsing per f = v/(, where ( = 2(Rmc. When we use E = Mc2 in open space and E = Mv2 in the laboratory, we need desperately to know how to series/parallel-parse molecular-sized electron-quantized mass, M = nh.  
We geometrically confuse energy and mass in a gross problematically averaged way that allows prediction but not detailed vision of the quantum & electron pulse events-- as expanding energy-surface paralleled in open space and as series energy surface linked in the lab. Such physics confusion as seen, felt & taught by John A. Wheeler, prompted him to write: “How could we be so stupid for so long?” Why do we care? Because we are or should be eternally curious, and can do a lot better; if, like Einstein & Wheeler, we insist on visualization of mechanical detail!

The front line for the needed new physics mechanically detailed view is the search for the mass-giving Higgs particle--unfortunately at the moment by particle accelerators alone that cannot parse it. Quarks are problematic mechanical nonsense as currently defined -- just like Big Bang--unless you let each of the 6 be one degree of freedom vibration of a pulsed 3-D electron!

Why Linear Accelerators cannot find truth in the direction of small

The Stanford Linear Accelerator Facility (SLAC) is searching very cleverly in the direction of small, hoping to find ultimate truth at the local quantum & electron event levels, and eventually reveal the mass-giving Higgs particle.  

Facility director John Galayda has wrote "The bursts of light -- orders of magnitude brighter than any other existing light source -- will enable researchers to film at atomic detail the precise sequence of events in chemical reactions and biological processes.....directly observe molecules at the moment when new chemicals are formed, or to witness a single molecule in a process that is essential to life. It may even be possible to see atoms as they change states of excitation."

They are as close to physics truth at Stanford as this scientist is aware of, and their vital work must proceed, but no electron level cigar yet.  Atoms changing state of excitation must be clearly revealed to happen one electron at a time. We can indeed do this with current methodology in an electrical circuit fashion. What we cannot do--- is directly observe and measure the full 3-D geometry of the electron as helical string wave of Higgs particles as it comes and goes from the individual atom or molecule. That is, the Higgs particle size & mass is on the order of 1/h times smaller than the electron is long at about h grams of relatively lengthy constant mass.

The Higgs relative mass must be on the order of h2 ( 10-53 grams. Physical discovery of the Higgs particle is not possible but is easily inferred using deterministic simple math -- once we have the 3-D electron calibrated as a helical string wave whose length is many times greater than its width.

It is of course electron energy that we are accelerating to get as close as possible to the speed of c, but we do not yet know how to mechanically picture and name what it is we are accelerating!  AS hard as this is to believe, as done by the best physicists we have (at Stanford), it is why physics Prof Wheeler of Princeton exclaimed  “How could we be so stupid for so long?” The electron as defined here is a molecular size pulse of radiation; at all frequencies, even the frequency of light and beyond. We have electrons as heavy photons of light that we can readily observe in massive formations made of Higgs particles ---routinely moving at the speed of c in open space. Is there a clear telescope drawn lesson that all particle physicists need to get? The answer is clearly yes and it applies to all disciplines of science! And it is very significant to note that astronomy still uses Kepler’s equations in cgs units!

UH demands a  “new physics” wherein open space routinely demonstrates for easy telescope measure that (Rmc/Gmc = 3c2 = (MSR where ( is the unit energy vector, MSR is the surface mass count of Higgs particles that pack the spherical surface of Rmc, and the square root of that number is that world line of mass-giving Higgs that moves from one real-time-transport-formed, molecule-size dark matter material point to the one next door---every Rmc-carrier step of the way at the constant pulse speed of c ---through a perfect vacuum! And please note that any renormalization in open space is a quantum-pulse-eliminating mechanical joke! In the vicinity of atoms but outside them, pulse speed becomes v & less than c.

Scientist of all stripes have absolutely no choice but to lock-jaw focus on what an electron is; first in 3-D and then as we measure it along helix string centerline in one dimension-- without the physical or theoretical means of parsing one from another. A maximum curved line density of 1/h2 ( 1052 Higgs particles per electron--travel through the fine grain fluid dark matter medium they are forever interactively immersed in. Get used to it please! The quantum wave is an un-measurable 1/h Higgs particles in helical string tandem and the electron is a molecular size measurable 1/h quantum R-size world line one turns-- in helical string tandem. The unit mass in M = nh is obligatorily equal to 1/h electrons as stored temporarily in atoms. The anthropic-mandatory h-symmetry is all that saves us from Wheeler-announced lab-level stupidity!

For a clear picture of the electron, mind’s eye envision 1/h world line (helical) turns of 1/h Higgs particles each lining up to form a very long helical string length compared to its radius. It takes 1/h2 ( 1052 Higgs to form one 3-D helical string electron that has a quantum width of R, but is made up of a practical infinity of 1/h quantum discrete events to form a detectible line of energy-- as one electron constant mass transfer! Thus we cannot directly measure in 3-D at all, but a pulsed progression of constant mass string segments moving along a lengthy helix centerline of infinitesimal (unknown) math point depth! The band of pulse frequencies we are -allowed to measure must satisfy the relation, f = v/(, where (  is molecular in size range, and v varies over an equally limited speed range whose upper limit is c. We are not yet able to measure atom-size electrons with molecular-at-best instrumentation that includes our eyeballs and electron microscopes! 

At present we have only a one dimensional helix centerline projection measure capability that we crudely call electric current where we do not know the varying R-depth of the ray of radiation --as the string of electron waves travel though the interactive dark matter medium. The so called magnetism that goes with the passage of electrons is nothing more than the curl of the helical string as it goes around each varying R-depth of the light ray. The other two dimensions of the 3-D electron are hidden and problematic-math-given. The false mechanical properties of magnetism are completely un-manageable using the GRT continuous field equation of Einstein expressed as G = 8(T, where T is a very complex Stress Tensor. The physical picture of curvature G is here finally given new physics definition using UH; which insists that G = (R/3v2.

Even with our telescope measure in open space we do not time-parse the pre-existent spherically organized gravity field from its real time asymmetric overlay of electron-segmented electromagnetic radiation--- here simply called pulsed electron energy --as heavy photons of light traveling at the constant speed of c in open space. So when we very closely approach c in the best of particle accelerators, we are looking at more Higgs particles per pulse than we can ever hope to separate --except using the simple, fully deterministic new Einstein field equation that can now be clearly related to E = Mv2 = nhf where M = nh and f = v2, and to the Universal Harmony (UH) of the molecular electron and its constituent quantum back and forth pulsing per (R/G = 3v2 = (M. Mass is finally deterministically defined as an R-energy surface count of Higgs particles - whatever their ever-hidden size and mass. Now we can finally unravel also Newton’s gravity in the energy-mass form of GM(m =1)/R = 3v2 as Einstein almost did with his “excess radius” analogy that led him to the mean curvature of space! 

From the above mind’s eye visualizations of frequency pulse detail in the absence of action at a distance, it is manifestly clear that we not only need a new sense of physics but a new sense of math as well.

A new math using a simplified Einstein curvature field equation 

The most important hidden variable is the central cause of the circular flow of dark matter that defines the spherically structure of the gravity field. And it is the strongly implied central black hole (BH) that must do the stirring. The new BH is described in plain language detail at:

 http://www.geocities.com/CapeCanaveral/Hall/2638/The_Black_Hole.doc
Using Newton’s gravity, we change G from a constant to the Higgs particle radius that defines the surface of each concentric- array G-depth electron hosting shell-- that every gravity field is made of. The new black hole is a maximum density, finite variable (growth/decay) causal center of the field that stirs its fine grain dark matter into the concentric array of electron hosting shells that surround it. So Newton’s equation must shell-discretely increment G & M so that they are numerically the inverse of one another. By Newton’s Earth surface calibration his constant G is the Higgs particle size of the visible, electron hosting outer shell of the Earth’s gravity field. Thus Newton already discovered the Higgs particle long ago! 

The mass we know for the Earth is a visible surface count mass per M = (3v2)2 = (R/G)2  where R is the radius of the visible Earth surface as fully packed by G. Try it for yourself by substituting known values for R and v, where v is the average speed of G-size (air molecule) Higgs as they spin at the visible surface of the earth to define a shell orbit whose radius from the outer boundary of the central BH is equal to R.  Note that Earth mass is on the order of 1/h grams! And notice as Einstein did, that Newton’s R for Earth’s radius has to have an “excess radius” added on to account for the finite spinning, smallest math point radius of its BH of about 10-6 cm! It was this realization that led Einstein to define the shell curvature of the universal gravity field in terms of G! 

Einstein late-lamented that his material points became math singularities in the very field they were supposed to be causing!  One here has necessarily visualized that material points of infinite nested sizes manage spin-transport of energy to one another with a simplest least friction pre-geometry called Universal Harmony (UH)--one that allows only one human-worthwhile vision whereby just 6 degrees of vibratory freedom allow point to point transport of energy for a least friction 3-D view. We see this simplest energy flow pattern in all of nature-- so it is utterly Wheeler-announced stupid to introduce more dimensions. 

For more insight on what is meant here by “new math” see the short paper at:

http://www.geocities.com/CapeCanaveral/Hall/2638/1NewMath.doc
The simple algebra form of his field equation that the Einstein searched in vain for until his death in 1955, can be written as G = R/3v2. Here is all the proof one should need. Let M in Newton’s equation be equal to (R/G)2 then GM(m =1)/R = 3v2 reduces to G(R2/G2)(m =1)/R = R/G = 3v2  & yes the equal signs here all mean numerically equal --and dimensional homogeneity does not apply because mass is not a proper dimension. The h-symmetry that saves us is still all there--in that M = nh & mass is simply a count of electrons that are transferring a constant mass of h grams each, while they also represent a 3-D helical string count of 1/h quantum one turns around R-carrier material points that vary in size without limit. UH-driven h-symmetry demands that size really does not matter for dark matter. For Visible matter it is maximum density Higgs-defined surface up close & personal against another such surface that matters critically! How much more serendipity in new math and new human-feel physics can we stand?!!

Why Size in Dark Matter Doesn’t Matter

One has generalized Einstein’s energy-mass equation for lab use as E = Mv2 where 1/h electrons of mass, h, are frequency pulsed at a repetition rate of v2 along a closed orbit helix centerline. In terms of molecular Browning motion, it takes 1/h electrons  pulsing in synchrony at the speed of v --to equal one unit of mass whose energy is then equal to the square of that speed. Electron size does not matter. Why? Because

with M = nh as a measure of bulk mass, the total binding energy for that mass is E = Mv2 = nhv2 so that the count of electrons of constant mass, h, is its mass and the their average speed of binding-closed-loop-pulse travel allows that mass to be converted to energy. Note that Electrons visibly parse the number, n, but not there relative size or the geometry of how they are spatially distributed. Energy is determined by the average speed of closed loop orbit, visible matter binding loops; as a count of the object’s mass! 

Take away the binding of pre-existing spherically organized dark matter by asymmetric electromagnetic energy in the form of electrons and you have infinite mass, energy, force that is experienced only by the outer surfaces of atoms where spherical size and inward force are synonymous.

The speed of the dark matter defining the outer surface of the atom as we Microscope see it-- must be constant and equal to c, and its central BH is changing in size in a c-boundary-synchronous way. What then are the minimum and maximum sizes of the atom and its central BH that matter for visible matter?

Let Universal Harmony (UH) for linear closed--circle energy be R/G  = v2 where R is circle radius and G is the Higgs particle radius that makes up the circular line around R. The count of G divided into R equals the linear Higgs mass count that is going around and around at the speed of v. UH controls the number & size of ball bearing Higgs particles forming the circle. Energy transport interactively granulates fluid dark matter in terms of R/G ratio -- so that least friction of motion rules and the electron unit circle must have an energy of v2 = f, regardless of travel distance! The concept of mass and distance for a unit circle is the count of Higgs particles as math points that make up the perimeter distance 2(R. That is mass M = nhf where n = 1/h equals f equals v2. The Unit Circle perimeter fluid-granulates for least ball bearing spin friction so that G = 2(R/v2. We can infer it but not measure or feel it! 

We see Unit Circles in the Mind’s Eye only. In the real world, it must be a 3-D sphere for which the proper math is G = (R/3v2 as Einstein’s new field equation & energy-mass relation. G is unit mass, and ( as stored energy in place inside the atom &  inside visible matter as unit binding energy, as 3-axis energy at the surface of R. 

Finally, look at Newton’s F = Ma for open space where frequency pulse acceleration  can only be equal to c and M = nh so that force is constant for the electron of mass h grams at hc dynes. Now make this the Hubble constant H0 = hc and forget redshift indication of universe expansion. The dark matter fluid medium of open space has a constant viscosity-inertia of 1/c. When frequency pulse speed is less than c and equal to v, force for electron traveling through a medium  of constant viscosity of 1/v  is constant at hv. Since mass is the number, n, of electrons of mass h grams, F = nhv where v is the square root of the frequency of pulsing as means of scaling relative viscosity or inertia of a given transport medium. Not yet convinced? Then see:

http://www.geocities.com/CapeCanaveral/Hall/2638/1MrMorganNewPhysics.doc
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